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Coding Decoding Questions for CGL Tier 1, SSC 10+2 & 

NIFT. 

Coding Decoding Quiz 4 

Directions: Study the following question carefully and choose the right answer. 

1. If CUSTOM is written as UCTSMO then how PARENT be written in 

the same code? 

A. APERTN  B. RAPTNE  C. TNERAP  D. ERAPTN 

2. In a certain coding system, APPLE stands for ETTPI. What is the code 

for "DELHI"? 

A. CQMND  B. CQPLM  C. ZAHDE  D. HIPLM 

3. In a certain code, LUTE is written as MUTE and GATE is written as 

HATE, then how BLUE will be written in that code? 

A. FLUD  B. FLUEv  C. CLUE  D. GLUE 

4. If ‘Development’ is written as ‘Tnemdevelop’. Then ‘Evaluation’ will 

be written as 

A. Notiaevalu B. Noitaulave C. Notievalua D. Noitevalua 

5. In a certain language PROSE is coded as PPOQE. How will LIGHT 

coded? 

A. LIGFT  B. LGGHTv  C. LLGFE  D. LGGFT 

6. In a certain code PAUSE is written as OBVTD and SHIFT is written as 

RIJGS. How will THINK be written in the same code? 

A. UGHML  B. SIJMJ  C. SIJOJ  D. SIJQJ 

E. SIJOL 



 

 

7. In a certain code ROAD is written as URDG. How is SWAN written in 

that code? 

A. UXDQ  B. VZDQ  C. VXDQ  D. VZCQ 

8. In a certain code ‘TERMINAL’ is written as ‘SDQLJOBM’. How is 

CREDIBLE written in that code? 

A. BQDCJCMF B. BQDCHAKD C. DSFEJCMF  D. DSFEHAKD 

9. If ACELDNRA stands for CALENDAR, what does LEGIBIEL stands for? 

A. LIEGIBLE  B. ELIGIBLE  C. BIGEELIC  D. None of these 

10. If VICTORY is coded as YLFWRUB, then how can SUCCESS be 

coded? 

A. VXEEIVV  B. VXFFHVV  C. VYEEHVV  D. None of these 

 

 

 

  



 

 

Correct Answers: 

1 2 3 4 5 1 2 3 4 5 
A D C D D C B A B B 
 

Explanations: 

1. 

 

Hence, option A is correct. 

 

2. 

A P P L E 
↓ ↓ ↓ ↓ ↓ 
+4 +4 +4 +4 +4 
↓ ↓ ↓ ↓ ↓ 
E T T P I 

 
Similarly; 
  
D E L H I 
↓ ↓ ↓ ↓ ↓ 
+4 +4 +4 +4 +4 



 

 

↓ ↓ ↓ ↓ ↓ 
H I P L M 
 

Hence, option D is correct. 

 

3. 

L      UTE 

 

M      UTE 
 

  and   

G   ATE 

 

H   ATE 
 

   Similarly,    

B  LUE 

 

C   LUE 
 

     
Hence, option C is correct. 

 

4. 

 

Hence, option D is correct. 

 

5. 

 
Hence, option D is correct. 

 

  



 

 

6. 

P A U S E 
↓ ↓ ↓ ↓ ↓ 
–1 +1 +1 +1 –1 
↓ ↓ ↓ ↓ ↓ 
O B V T D 
 
And 
 
S H I F T 
↓ ↓ ↓ ↓ ↓ 
–1 +1 +1 +1 –1 
↓ ↓ ↓ ↓ ↓ 
R I J G S 

 
So, 
 
T H I N K 
↓ ↓ ↓ ↓ ↓ 
–1 +1 +1 +1 –1 
↓ ↓ ↓ ↓ ↓ 
S I J O J 

 

Hence, option C is correct. 

 

7. 

R O A D 
↓ ↓ ↓ ↓ 
+3 +3 +3 +3 
↓ ↓ ↓ ↓ 
U R D G 
 
Similarly; 
  
S W A N 
↓ ↓ ↓ ↓ 
+3 +3 +3 +3 



 

 

↓ ↓ ↓ ↓ 
V Z D Q 

 
Hence, option B is correct. 

 

8. 

T E R M I N A L 
↓ ↓ ↓ ↓ ↓ ↓ ↓ ↓ 
–1 –1 –1 –1 +1 +1 +1 +1 
↓ ↓ ↓ ↓ ↓ ↓ ↓ ↓ 
S D Q L J O B M 

 
Similarly; 
  
C R E D I B L E 
↓ ↓ ↓ ↓ ↓ ↓ ↓ ↓ 
–1 –1 –1 –1 +1 +1 +1 +1 
↓ ↓ ↓ ↓ ↓ ↓ ↓ ↓ 
B Q D C J C M F 

 

Hence, option A is correct. 

 

9. 

Assign numbers to letter and move them like given word. 
 
A C E L D N R A   =   C A L E N D A R 
1 2 3 4 5 6 7 8       2 1 4 3 6 5 8 7 
 
Similarly; 
 
Arrange the given word like the bold value of CALENDAR; 
 
L E G I B I E L   =   E L I G I B L E 
1 2 3 4 5 6 7 8       2 1 4 3 6 5 8 7 

 
Hence, option B is correct. 



 

 

 

10. 

V I C T O R Y 
↓ ↓ ↓ ↓ ↓ ↓ ↓ 
+3 +3 +3 +3 +3 +3 +3 
↓ ↓ ↓ ↓ ↓ ↓ ↓ 
Y L F W R U B 

 
Similarly; 
  

 
 
 
 
 
 

Hence, option B is correct.  
 

S U C C E S S 
↓ ↓ ↓ ↓ ↓ ↓ ↓ 
+3 +3 +3 +3 +3 +3 +3 
↓ ↓ ↓ ↓ ↓ ↓ ↓ 
V X F F H V V 
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